

Bilateral generating relations for modified Konhauser polynomial with discrete variable

*¹B. Satyanarayana, ²N. Srimannarayana and ³Y. Pragathi Kumar

¹Department of Mathematics
Acharya Nagarjuna University
Nagarjuna Nagar-522 510,
Andhra Pradesh, INDIA
E-mail: drbsn63@yahoo.co.in

²Department of Science and Humanities
MVGR College of Engineering,
Chintalavalasa, Vizianagaram (District)
Andhra Pradesh, India.
E-mail: sriman72@gmail.com

and

³Department of Mathematics
College of Natural and Computational Sciences
Adigrat University, Ethiopia.
E-mail: pragathi.ys@gmail.com

Abstract

In [10], we introduced a modified Konhauser polynomial with discrete variable. In this paper an attempt has been made to obtain some bilateral generating relations for modified Konhauser polynomial with discrete variable. Each result is followed by its applications to the classical orthogonal polynomials.

Key words: Konhauser polynomial, modified Jacobi polynomial, Laguerre polynomial.

Introduction

In the previous paper [10], we introduced modified Konhauser polynomial with discrete variable $Z_n^\alpha(x; w, k)$ defined as follows:

$$(1.1) \quad Z_n^\alpha(x; w, k) = \frac{\Gamma(kn + \alpha + 1)}{n!} \sum_{j=0}^n \frac{(-1)^j \binom{n}{j}^{[jw]} \{x^{[kw]}\}}{\Gamma(kj + \alpha + 1)}$$

where Milne-Thomson [6]

$$x^{[kw]} = x(x-w)(x-2w)\dots(x-kw+w)$$

and the following notations have been adopted

$$^{[kw]}x = x(x+w)(x+2w)\dots(x+kw-w)$$

So that

$$[kw]_x = \left(\frac{x}{w}\right)_j w^j \text{ and } [kw] \left\{ x^{[kw]} \right\} = [jw]_x [jw](x-w) [jw](x-2w) \dots [jw](x-kw+w)$$

We also derived the following relation

$$(1.2) \quad Z_n^\alpha(x; w, k) = \frac{(1+\alpha)_{kn}}{n!} {}_{k+1}F_k \left(\begin{matrix} -n, \frac{x}{w}, \frac{x}{w}-1, \dots, \frac{x}{w}-k+1; \\ \Delta(k; 1+\alpha); \end{matrix} \left(\frac{w}{k}\right)^k \right),$$

where, well known notation Satyanarayana [9, pp.30(vii)]

$$(1.3) \quad \Delta(k, 1+\alpha) = \frac{1+\alpha}{k} \frac{2+\alpha}{k} \dots \frac{k-1+\alpha}{k}$$

and well-known lemma Rainville [8, 22(2)],

$$(1.4) \quad (\alpha)_{kn} = k^{kn} \left(\frac{\alpha}{k}\right)_n \left(\frac{\alpha+1}{k}\right)_n \dots \left(\frac{\alpha+k-1}{k}\right)_n$$

And ${}_pF_q$ is generalized hypergeometric function Rainville [8].

Taking the limit $w \rightarrow 0$ in (1.1), we obtain

$$(1.5) \quad \lim_{w \rightarrow 0} Z_n^\alpha(x, w, k) = Z_n^\alpha(x, k),$$

where $Z_n^\alpha(x, k)$ is Konhauser polynomial of two variables [2].

In [3], Lahiri and Satyanarayana defined and studied a generalized hypergeometric function

$I_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w)$ and also proved that

$$(1.6) \quad \sum_{n=0}^{\infty} \binom{n+r}{r} \frac{(\rho+r)_n}{(1+\alpha+r)_n} I_{n+r}^\alpha(x, w) t^n \\ = (1-t)^{-\rho-r} \binom{\alpha+r}{r} F^{(3)} \left[\begin{matrix} (a_p) :: \frac{x}{w} - \mu + 1; \text{---}; \text{---}; \rho+r; -r; \frac{-x}{w} + \lambda \\ (b_q) :: 1+\alpha; \text{---}; \text{---}; \text{---}; \text{---}; \end{matrix} \left| -\frac{wt}{1-t}, w, w \right. \right]$$

Where $F^{(3)}$ is generalized hypergeometric function of three variables (see Srivastava and Karlsson [11]).

In particular for $\lambda = 0$, $\mu = 1$, $p = q$ and $a_j = b_j$ ($j = 1, 2, \dots, p$) we have

$$(1.7) \quad I_{n;0;(a_p)}^{\alpha;1;(a_p)}(x, w) = (1-w)^w J_n^\alpha(x, w),$$

Where $J_n^\alpha(x, w)$ is modified Jacobi polynomial (see Parihar and Patel [7]) and

$$(1.8) \quad \lim_{w \rightarrow 0} I_{n; \lambda; (a_p)}^{\alpha; \mu; (a_p)}(x, w) = e^{-x} L_n^\alpha(x),$$

where $L_n^\alpha(x)$ is Laguerre polynomial [8].

The following definitions and results given by Rainville [8 , p.302] Gottlieb polynomial

$$(1.9) \quad \phi_n(x; \lambda) = e^{-n\lambda} {}_2F_1(-n, -x; 1; 1 - e^\lambda),$$

Generalized Sylvester polynomial

$$(1.10) \quad f_n(x; a) = \frac{(ax)^n}{n!} {}_2F_0(-n, x; -; -\frac{1}{ax})$$

Agarwal and Manocha [1, p.1372(2.2), p.1374(5.5)]

$$(1.11) \quad \sum_{n=0}^{\infty} \binom{n+k}{k} \phi_{n+k}(x; \lambda) t^n = (1-t)^{x-k} (1-te^{-\lambda})^{-x-1} \phi_k(x; \log_e \left(\frac{e^\lambda - t}{1-t} \right))$$

and

$$(1.12) \quad \sum_{n=0}^{\infty} \binom{n+k}{k} f_{n+k}(x; a) t^n = (1-t)^{-x-k} e^{axt} f_k(x; a(1-t)).$$

2. Bilateral generating relations

We prove the following main bilateral generating relations for the modified Konhauser polynomial with discrete variable [10].

$$(2.1) \quad \sum_{n=0}^{\infty} \frac{n!(\eta)_n}{(1+\alpha)_n(1+\beta)_{nk}} Z_n^\beta(y; \nu, k) I_{n; \lambda; (b_q)}^{\alpha; \mu; (a_p)}(x, w) t^n$$

$$= (1-t)^{-\eta} F_{q+k+1; 0; 0; 0; 0}^{p+k+2; 0; 0; 0; 1} \left[\begin{matrix} [(a_p) : 0, 1, 1, 1], [\eta : 1, 1, 1, 0] : \\ [(b_q) : 0, 1, 1, 1] : \quad - \quad : \end{matrix} \right.$$

$$\left. \begin{matrix} \left[\frac{y}{\nu} : 1, 0, 1, 0 \right], \left[\frac{y}{\nu} - 1 : 1, 0, 1, 0 \right], \dots, \left[\frac{y}{\nu} - k + 1 : 1, 0, 1, 0 \right] ; \\ [\Delta(k; 1 + \beta) : 1, 0, 1, 0] \quad ; \end{matrix} \right.$$

$$\left. \begin{matrix} \left[\frac{x}{w} - \mu + 1 : 0, 1, 1, 0 \right]; -; -; -; -\frac{x}{w} + \lambda; \\ E, F, G, H \\ [1 + \alpha : 0, 1, 1, 0]; -; -; -; -; \end{matrix} \right]$$

where $E = \frac{t}{t-1} \left(\frac{v}{k}\right)^k$, $F = \frac{-wt}{1-t}$, $G = \frac{wt}{t-1} \left(\frac{v}{k}\right)^k$ and $H = w$

and F is a generalized Lauricella hypergeometric function of 4 variables.

$$(2.2) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} Z_n^\beta(y; \nu, k) \phi_n(x; \lambda) t^n$$

$$= (1-t)^x (1-te^{-\lambda})^{-x-1} F_{k:1;0}^{k+1:1;0} \left[\begin{matrix} \left[\frac{y}{v}:1,1\right], \left[\frac{y}{v}-1:1,1\right], \dots, \left[\frac{y}{v}-k+1:1,1\right], \\ [\Delta(k;1+\beta):1,1] \end{matrix} \right.$$

$$\left. \begin{matrix} [1:1,1]:-x;-; -\frac{t}{1-t} \left(\frac{e^\lambda-1}{e^\lambda-t}\right) \left(\frac{v}{k}\right)^k, \left(\frac{-t}{e^\lambda-t}\right) \left(\frac{v}{k}\right)^k \\ :1;-; \end{matrix} \right]$$

Where $F_{q:w;l}^{p:u;v}(x, y)$ is hypergeometric functions of two variables (see Srivastava and Karlsson [11]).

and

$$(2.3) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} Z_n^\beta(y; \nu, k) f_n(x; a) t^n$$

$$= (1-t)^{-x} e^{axt} F_{k:0;0}^{k:1;0} \left[\begin{matrix} \left[\frac{y}{v}:1,1\right], \left[\frac{y}{v}-1:1,1\right], \dots, \left[\frac{y}{v}-k+1:1,1\right], [1:1,1]: \\ [\Delta(k;1+\beta):1,1] \end{matrix} \right.$$

$$\left. \begin{matrix} x;-; -\frac{t}{1-t} \left(\frac{v}{k}\right)^k, -axt \left(\frac{v}{k}\right)^k \\ -;-; \end{matrix} \right]$$

Where $F_{q:w;l}^{p:u;v}(x, y)$ is hypergeometric functions of two variables (see Srivastava and Karlsson [11]).

Proof of (2.1). The proof of (2.1) can be developed easily from (1.2)) as follows

$$\sum_{n=0}^{\infty} \frac{n!(\eta)_n}{(1+\alpha)_n(1+\beta)_{nk}} Z_n^\beta(y; \nu, k) I_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w) t^n$$

$$= \sum_{n=0}^{\infty} \frac{(\eta)_n}{(1+\alpha)_n} {}_{k+1}F_k \left[\begin{matrix} -n, \frac{y}{v}, \frac{y}{v}-1, \dots, \frac{y}{v}-k+1; \left(\frac{v}{k}\right)^k \\ \Delta(k,1+\beta) \end{matrix} ; \left(\frac{v}{k}\right)^k \right] I_{n;\lambda;(b_q)}^{\alpha;\mu;(a_p)}(x, w) t^n$$

$$= \sum_{l=0}^{\infty} \frac{(\eta)_l \left(\frac{y}{v}\right)_l \left(\frac{y-1}{v}\right)_l \dots \left(\frac{y-k+1}{v}\right)_l \left(\frac{v}{k}\right)^{lk} t^l}{(1+\alpha)_l \Delta_l(k; 1+\beta)} \sum_{n=0}^{\infty} \binom{n+l}{l} \frac{(\eta+l)_n}{(1+\alpha+l)_n} I_{n+l; \lambda; (b_q)}^{\alpha; \mu; (a_p)}(x, w) t^n$$

By using (1.6) and simplifying, we arrive (2.1).

Applications

(i) By writing $p = q$, $a_j = b_j$, $j = 1, 2, \dots, p$; $\mu = 1$ and $\lambda = 0$ in (2.1), we obtain

$$(2.4) \sum_{n=0}^{\infty} \frac{n!(\eta)_n}{(1+\alpha)_n (1+\beta)_{nk}} Z_n^\beta(y; v, k) J_n^\alpha(x, w) t^n$$

$$= (1-t)^{-\eta} F_{k+1; 0; 0; 0}^{k+2; 0; 0; 0} \left[\begin{matrix} [\eta : 1, 1, 1], \left[\frac{y}{v} : 1, 0, 1\right], \left[\frac{y-1}{v} : 1, 0, 1\right], \dots, \\ [\Delta(k; 1+\beta) : 1, 0, 1], [1+\alpha : 0, 1, 1] \\ \left[\frac{y}{v} - k + 1 : 1, 0, 1\right], \left[\frac{x}{w} : 0, 1, 1\right] : -; -; -; \\ \vdots; -; -; -; \end{matrix} \right] \begin{matrix} E, F, G \end{matrix}$$

where

$$E = \frac{t}{t-1} \left(\frac{v}{k}\right)^k, \quad F = \frac{-wt}{1-t}, \quad G = \frac{wt}{t-1} \left(\frac{v}{k}\right)^k,$$

Where $J_n^\alpha(x, w)$ is modified Jacobi polynomial (see Parihar and Patel [7]).

(ii) By writing $p = q$, $a_j = b_j$, $j = 1, 2, \dots, p$; $\mu = 1$ and $\lambda = 0$ and taking $w \rightarrow 0$ in (2.1), we obtain

$$(2.5) \sum_{n=0}^{\infty} \frac{n!(\eta)_n}{(1+\alpha)_n (1+\beta)_{nk}} Z_n^\beta(y; v, k) L_n^\alpha(x) t^n$$

$$= (1-t)^{-\eta} F_{k+1; 0; 0; 0}^{k+1; 0; 0; 0} \left[\begin{matrix} [\eta : 1, 1, 1], \left[\frac{y}{v} : 1, 0, 1\right], \left[\frac{y-1}{v} : 1, 0, 1\right], \dots, \\ [\Delta(k; 1+\beta) : 1, 0, 1], [1+\alpha : 1, 0, 1] \end{matrix} \right]$$

$$\left[\begin{array}{l} \left[\frac{y}{v} - k + 1 : 1, 0, 1 \right] : -; -; -; \\ \frac{t}{t-1} \left(\frac{v}{k} \right)^k, \frac{-xt}{1-t}, \frac{xt}{t-1} \left(\frac{v}{k} \right)^k \\ : -; -; -; \end{array} \right]$$

where $L_n^\alpha(x)$ is Laguerre polynomial [8].

(iii) By taking the limit as $v \rightarrow 0$ in (2.1), we arrive at the following result.

$$(2.6) \sum_{n=0}^{\infty} \frac{n! (\eta)_n}{(1+\alpha)_n (1+\beta)_{nk}} Z_n^\beta(y, k) I_{n; \lambda; (b_q)}^{\alpha; \mu; (a_p)}(x, w) t^n$$

$$= (1-t)^{-\eta} F_{q+k+1; 0; 0; 0}^{p+2; 0; 0; 1} \left[\begin{array}{l} [(a_p) : 0, 1, 1, 1], [\eta : 1, 1, 1, 0], \left[\frac{x}{w} - \mu + 1 : 0, 1, 1, 0 \right] : \\ [(b_q) : 0, 1, 1, 1], [\Delta(k; 1 + \beta) : 1, 0, 1, 0], [1 + \alpha : 0, 1, 1, 0] : \\ -; -; -; - \frac{x}{w} + \lambda; \\ \frac{t}{t-1} \left(\frac{y}{k} \right)^k, \frac{-wt}{1-t}, \frac{wt}{t-1} \left(\frac{y}{k} \right)^k, w \\ -; -; -; - \end{array} \right]$$

where $Z_n^\alpha(x; k)$ is Konhauser polynomial [2].

(iv) By writing $p = q$, $a_j = b_j$, $j = 1, 2, \dots, p$; $\mu = 1$, $\lambda = 0$ and $k = 1$ and taking the limit as $w \rightarrow 0$, $v \rightarrow 0$ in (2.1), we have

$$(2.7) \sum_{n=0}^{\infty} \frac{n! (\eta)_n}{(1+\alpha)_n (1+\beta)_n} L_n^\beta(y) L_n^\alpha(x) t^n$$

$$= (1-t)^{-\eta} F_{2; 0; 0; 0}^{1; 0; 0; 0} \left[\begin{array}{l} [\eta : 1, 1, 1, 0] : -; -; -; -; \\ [1 + \beta : 1, 0, 1, 0], [1 + \alpha : 0, 1, 1, 0] : -; -; -; -; \end{array} \right]$$

$$\left[\frac{yt}{t-1}, \frac{-xt}{1-t}, \frac{xyt}{t-1}, x \right]$$

Proof of (2.2). By using (1.2), (1.9) and (1.11) as in the proof (2.1), we can easily derive the proof of (2.2).

Applications :

(i) By applying $v \rightarrow 0$ in (2.2), it becomes

$$(2.8) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} Z_n^\beta(y; k) \phi_n(x; \lambda) t^n$$

$$= (1-t)^x (1-te^{-\lambda})^{-x-1} F_{1:1;0}^{1:1;0} \left[\begin{matrix} [1:1,1] & : -x; -; & \frac{(e^\lambda - 1)y^k t}{(e^\lambda - t)(1-t)}, & -\frac{y^k t}{(e^\lambda - t)} \end{matrix} \right]$$

(ii) Applying $v \rightarrow 0$ & $k=1$ in(2.2), we have

$$(2.9) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} L_n^\beta(y) \phi_n(x; \lambda) t^n$$

$$= (1-t)^x (1-te^{-\lambda})^{-x-1} F_{1:1;0}^{1:1;0} \left[\begin{matrix} [1:1,1] : -x; -; & -\frac{y(e^\lambda - 1)t}{(e^\lambda - t)(1-t)}, & -\frac{yt}{(e^\lambda - t)} \end{matrix} \right]$$

Proof of (2.3). (2.3) can be proved in a manner similar to that of (2.1) and (2.2).

Applications

(i) By applying $v \rightarrow 0$ in (2.3), we get

$$(2.10) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} Z_n^\beta(y, k) f_n(x; a) t^n = (1-t)^{-x} e^{axt} \phi_3 \left[\begin{matrix} x & ; & \frac{-y^k t}{1-t}, & -ax y^k t \end{matrix} \right]$$

where $\phi_3[\beta; \gamma; x, y]$ is the confluent hypergeometric function of two variables(See Srivastava and Manocha [12, pp. 59 (40)]).

(ii) By applying $v \rightarrow 0$ and $k = 1$ in (2.3), we obtain

$$(2.11) \sum_{n=0}^{\infty} \frac{n!}{(1+\beta)_{nk}} L_n^\beta(y) f_n(x; a) t^n = (1-t)^{-x} e^{axt} \phi_3 \left[\begin{matrix} x & ; & \frac{-yt}{1-t}, & -ax yt \end{matrix} \right]$$

References

1. Agarwal A K and Manoch H L, On some new generating functions, *Indian J. Pure and Appl. Math.*, 13(11)(1982), 1369-1375.
2. Konhouser, Joseph D E, Biorthogonal polynomial suggested by the Laguerre polynomial, *Pacific J. Math.*, 21(1967), 303-314.
3. Lahiri M and Satyanarayana B, A class of generalized hypergeometric functions defined by using a difference operator, *Soochow J. Math.* 19(1993), 163-171.
4. Lahiri M and Satyanarayana B, Certain bilateral generating relations for generalized hypergeometric functions, *Proc. Indian Acad. Sci. (Math Sci.)* 105 (3)(1995), 297-301.
5. Lahiri M and Satyanarayana B, Discrete and pseudo orthogonality for a class of generalized hypergeometric functions, *Tamkong J. of Math.* 28(4)(1997), 325-332.
6. L.M.Milne-Thomson, *The Calculus of Finite Differences*, Macmillan, London, 1951.
7. Parihar C L and Patel V C, On modified Jacobi polynomials, *J. Indian Acad. Math.* 1(1979), 41-46.
8. Rainville E D, *Special Functions*, Macmillan, New York, 1960.
9. Satyanarayana B, *Discrete Hypergeometric Functions Defined By A Difference Operator Technique*, Ph.D., Thesis, Department of Mathematics, Banaras Hindu University, Varanasi, 1993.
10. Satyanarayana B, Srimannarayana N and Pragathi Kumar Y, On modified Konhauser polynomial with discrete variables, *Applied Mathematical Sciences*, 7(105) (2013), 5235-5241.
11. Srivastava H M and Karlsson P W, *Multiple Guassian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1985.
12. Srivastava H M and Manocha H L, *A treatise on generating functions*, Hasted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1985.

The IISTE is a pioneer in the Open-Access hosting service and academic event management. The aim of the firm is Accelerating Global Knowledge Sharing.

More information about the firm can be found on the homepage:

<http://www.iiste.org>

CALL FOR JOURNAL PAPERS

There are more than 30 peer-reviewed academic journals hosted under the hosting platform.

Prospective authors of journals can find the submission instruction on the following page: <http://www.iiste.org/journals/> All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Paper version of the journals is also available upon request of readers and authors.

MORE RESOURCES

Book publication information: <http://www.iiste.org/book/>

Academic conference: <http://www.iiste.org/conference/upcoming-conferences-call-for-paper/>

IISTE Knowledge Sharing Partners

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digital Library, NewJour, Google Scholar

